Ukazka prikladu cislo 3.

Re$ v mnoZiné reélnych &isel rovnici:

4% —18-4% = -32
Resent:
4% -18-4" =-32

(4%} -18-4" = -32
(47)' -18:47 = =32
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substituce:
y=4
» =18y =-32
¥ =18y +32=0
, 8 f187-4-32 1824196 _18x14
L2 2 9

2
Zpét k substituci:

a) 4 =16=4=x=2

1
by 4" =2=ofd =43 x=

2
Zlouska:

L{2)=4%*-18-4* =256-18'16=-32=P(2

1 1, 1
E]=42 -18:42 =4-36=-32= P[ ]
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Ukazka prikladu cislo 10.

Re$ v mnoZiné reélnych &isel rovnici:

dsinx+——=56
s X
Resent:
substituce:
y=snx
2
dy+—=46 fry
Y
4y* +2= 6y -6y
4y* -6y +2y=0 .
2y*=3y+1=0
=3i-\f9—4'2'1=3i\i‘$§'—8=3i1:> 1 =l
& 4 4 ARG
Zpét k substituci:
a) sin x =1
Vi
: 1
b) sinx=—
2
Xy = X+ 2d
6
5
Zkouska:
3
L[f =4sin =+ 2n=4-1+2-1=6=P[f]
2, < i — 2
3
L[f —dsin T+ 2 =4-1+%=2+4=6=P[3]
3 6 gin 2 ! 6
6 2
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